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let v, and Vg be the reattions ot A ad B.
ZMB:O
\/QXL = Zw(%’:’x
W [ L -
Vo '.-—‘[; J

L % '
Bmdu‘ng Momunt twroley chooSen load f?-’

. ’—':v L _A _ wl YC,,

= ZW [L_o(][é+w—é] — T w.d,
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For masumum BM undey a choosern woheel load,

the load System .skﬁ'u\f.:i be So placed en beam:
Such thatx frvesultant f all whul load Sgsfem
and Chooten whe) load Should be equidistant
from dhe midpoint g beam.

4 Loheel Loqu ot , &t, rlt,loJc mmunci on a beam ‘g~
Span 12 MD\[mﬂ —C‘mm h%l«\t'to\&i{- T—mo\
masumum BM wndu g ton and alo the Support

yeactions Ctob et nt 6t
o \'
Caquloda’nﬂ resw tant I L R
load £¥om ot load, S uBm (o 2me
(lo-f%Jrl?_-H;)x"i = loXo4+gxh5+ 41X1v5f6k4':

"9 % =tqlm.
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Reachon ¢

\/A}f“l ;36YC6"0'205") :;) \_/A:,-],585£
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Curves of Maximum BRending Moment and

Shees -—ro'f(e
FAV N NANS

For four Genuyrel cases
;)S;n%[e point load .mo\h\oﬁu
i) upL longer than Spar

W UpL shoﬁeffthan SPon.

W) Two point ‘\oads\ ot o fixed distonce bekween

them. | |
The mastimum  Sheer Force and  MaxXMmurd

-

o S(dstuﬂ‘s\' mo\[\‘n.% lbad$ and o¥e plotled
1 a Yy
010"1% the lerka‘ﬁ'\ & beam, these cho:arams ase

) A mormant ano\
called  cusves of mandmurm bending

Shea¥ Force.

|
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Iy j
Curves of  masimum Bmdgﬂ% Momunt and
Shear force By &
oY Single ot ,
RS RO el
fori& dey q Simply  Suppotted beam AB ond load
Wkn ove i5 mo\n‘na on beam. Consider 4
Section "X’ axr o distonce “Cm —?'mm A
w b nas
'X \l'"_) i |
' p. Maximum —Ve s
at 13 Sp = wxT
‘ vl } L

A

),

when «A=0, Sgp-p

c)(:l; SFZ"w ‘

Maoximum  4ve' Spar
ab % 9 sp = w0,
i L I

at' 2Az0, ' SE=W

» ok A=k, SE=0
w } ¢ :

U For masdmum BMLY

ok 4 9 M _= WAL

+ L

Iw for M, ot x=0 , BM; =0
UJL]|+ A=L , BM=z o |
x=L pM=WL |
2 5

Mo marm BMpD
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@ Sech'on ‘¥’
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A

B
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SFy = (' KAX zvx’bo

(wavvwwya

idx

1
i

Maximum BMD
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€= L
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Meatimum  spp
!

L A(L-2)

oL
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2L
at A=0 SE, =
o $-1 8 SFE: -l
2-
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s
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/\ - LOLLJX)Q-
i ~. 2L
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Span,
BM_ = |
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/ Qi' ‘7(_:,(_ - 29
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g 23
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) tohen o in AD D A<L,

| SFx‘: —_VB
ZHA:D
Vgrl = W vraxx
2-
':) Ve = w")()_
S
SFx:"Vra i15 valid fsom Ate D
ot A=0 SF, =0 , A= L, stz-amﬁ
2L
i when L is | -
) in ER _-% 7(>.Q{
SFX: ——VB
Ve xd = wi, (x—%) ) VYa = wa,(u—é)
at «A={, SFy = —we " A
_ o
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(_/ 8FB: —wﬁ,(L—ﬂ)
) 2
R e

Foint of inflection SF -0
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lC —E) =0 ;) ‘XI_‘&.
L 7.
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b=t (L—D.
L

& 2, =0 |
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=\ (L—x)—wloa' (I
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Pre conditions:
i) W, KW,

B de Wt
Lo, tWa

) when a<d i let Wy Just reacdhes %, w, ot be

W) 10, X
off the Span. l/\f—-‘l’r&-’"’ﬂ%
ot
SFK: -'VB Xd
ZMF) =0
X d = 0%
A
VB; 2
L
'\‘? ‘i:dl SFC—_—, -—wg.d
’L W, Wy
) when 44! a_c L L7 ,®
0 4 |
When W veaches X, W) Kk —4
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\)B - [:9_’:-‘-1—'{' w‘ ('X"d’)
L L )
- 1 w,U(‘
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L
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Mavuimum Ve SF = w,(_\,—X) ¥ wg[L"Xw\)

| L L'
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& m ot M
let My, oand Moy, be -the Curves 6 ma

cection vespectively.

1) when A< d.
ISR w, Wil be Sf the span.

. — I
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fo :\leL“l.) K - 3
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Wy (L) 0 (|- (4d)) = Vg ¥k
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—

L
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L -4
CaSe-—_-ii
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L
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L
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A= - =
" 320
e SF'. \
' t
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